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void setup()
{
for (int B =9; B <=11; B=B+1) {
pinMode(B,OUTPUT);
}

void loop()
{
for (int B =9; B <= 11; B=B+1) {
for (int A = 0; A <= 150; A=A+2) {
analogWrite(B,A);
delay(20);
}
for (int A = 150; A >= 0; A=A-2) {
analogWrite(B,A);
delay(20);
}
}
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262 277 294 311 330 349 370 392 415 440 466 494

523 554 587 622 659 698 740 784 831 880 932 988

1046 1109 1175 1245 1318 1397 1480 1568 1661 1760 1865 1976
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tone (pin, frequency, duration)

pin © gt 7Rz ENERHY digital pin

frequency (unsigned int) : FEIENS E84E H B SRHVH FEAT
duration (unsigned long) : &% B HY E40
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void setup()

{
pinMode(9, OUTPUT);

}

void loop()

{
tone(9,1000,5000);

}
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void setup()

{
pinMode(9, OUTPUT);
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\ e o o 1 {
#E: (X Bass SN 88 tone(9,587,500);
tone(9,659,500);
gER OE) 255E% EREN tone(9,698,500);

tone(9,784,500);
tone(9,880,500);

| wE O mEEs R tone(9,988,500);
tone(9,1046,500);
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void setup()

pinMode(9, OUTPUT);

void loop()

tone(9,523,500);
delay(500);
tone(9,587,500);
delay(500);
tone(9,659,500);
delay(500);
tone(9,698,500);
delay(500);
tone(9,784,500);
delay(500);
tone(9,880,500);
delay(500);
tone(9,988,500);
delay(500);
tone(9,1046,500);
delay(500);
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void setup()
{
pinMode(9, OUTPUT);
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int a[]={784, 659, 659};
int b[]={500, 500, 1000};
void setup()

void loop()

{
for (inti=1;i< =i+1) {
tone(9,(al(i - 1)1),(b[(i - 1)1));
delay((b[(i - 1)1));
}
}

void setup()

{
pinMode(9, OUTPUT);

void loop()

{
tone(9,784,500);
delay(500);
tone(9,659,500);
delay(500);
tone(9,659,1000);
delay(1000);
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int a[]={784, 659, 659};
int b[]={500, 500, 1000};
void setup()

{

pinMode(9, OUTPUT);

void loop()

{

int f[]={523, 587, 659, 698, 784, 880, 988, 1046};

int a[]={513131412121112131415151515131314121211’3’5’5’3’2’2'2'2'2'3'4'3'313131314151513131412121113151511};

int t=4000;

int b[]={8,8,4,8,8,4,8,8,8,8,8,8,4,8,8,4,8,8,4,8,8,8,8,2,8,8,8,8,8,8,4,8,8,8,8,8,8,4,8,8,4,8,8,4,8,8,8,8,2};

void setup()

{

pinMode(9, OUTPUT);

}

void loop()

{

for (inti = 1; i <= sizeof(a)/sizeof(a[0]); i=i+1) {
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for (int i = 1; i <= sizeof(a)/sizeof(a[0]); i=i+1) {

}

tone(9,(a[(i - 1)]),(b[(i - 1)1));
delay((b[(i - 1)]));
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int a[]={784, 659, 659};
int b[]={500, 500, 1000};
void setup()

{
pinMode(9, OUTPUT);

void loop()
{
for (inti=1;i<=3;i=i+1){
tone(9,(a[(i - 1)1),(b[(i - 1)1));
delay((b[(i - 1)1));
1



tone(9,( fla[(i- 1)1 -1] ),(/ bI(i - 1)] ));
delay( t/ (b[(i- 1)]) );
}

=ELED MFUEISES 57 H



*[EIZRIESE -
IR S VR
BT AR S led » SIF PP -

=LED R 8 H



